

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 
        Doppio	movimento,	allegro, 	=	108   7 A
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
              Db.Db.
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  
                           40 E


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            
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47 F

 
             Maestoso, 	=	8461 G

           
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


            rubatorubato 	=	72 rit.rit. Grave, 	=	68 pesante, 	=	60 78 I



                     poco	più	mosso, 	=	128 88 J

                          Db.Db.100 K

    
        L'istesso	tempo,	calmo   

Db.Db.
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arco

L M

 
  

                Db.Db.
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               134 O


          poco	rall.poco	rall. poco	meno	mosso 	=	58 molto	rall.molto	rall.140

 


        

                  
   Poco	accel.	animando, 	=	58 	=	64 accel.accel. 

Timp.	8vaTimp.	8va
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                                  173 S




                  Doppio	valore,	Largo, 	=	54178

                   
Bsn.	1	8vaBsn.	1	8va
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 
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   
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         Poco	meno	mosso poco	accel.

a	tempo

poco	accel. cédez a	tempo  Bsn.	1	8vaBsn.	1	8va
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           cédeza	tempo 41



                     Doppio	movimento,	moderato 	=	80   Db.Db.52 D

              cédez60


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              
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   
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                        72 F
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B.	Cl.B.	Cl.
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

              
Allegro, 	=	120

 
Hn.Hn.

Bsn. A

                    12

                   17 B

  
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        rall.rall. a	tempo 

Bsn.	1Bsn.	1

40 D E
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 


                   accel.accel. a	tempo,	ma	meno	mosso 	=	11260
F
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              
   

  
   Bsn.	166

G

 
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  

                          79

                            84 H


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 
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       poco	meno	mosso, 	=	10894

I



                      poco	più	mosso,	 	=	112103

                         109
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J
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
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a	tempo, 	=	108

poco	rall.poco	rall.
Hn.Hn.

Db.Db.133 K


                         tempo	rubato, 	=	100   a	tempo rall.rall.138


                     meno	mosso 	=	88 cédez più	mosso,	accel	poco	a	poco	 144




                	=	108  Db.	8baDb.	8ba
148 L

 
           =157 M

                                 Vc.Vc.171
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